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Why Should A Man Who Needs To Diet Wear A Plaid Shirt?

1. Which is the same [2. 700+ 100 = 3. 6100 = 4. 0.254+10=
as 0.02457? 0.7 J. 0.6 L. 0.00254
F. 0.245 -+ 100 1. 0.7 K. 0.06 E. 0.0254
I. 245-+10 E. 0.07 L. 0.006 A. 0.254
T. Not Here A. 0.007 M. Not Here N. 2.54
5. Which is the same |6. To divide by 100, [7. Which is the 8. 03x0.3=
as 0.087? move the decimal smallest? H. 0.09
P. 0.87 =10 F. 2 places right. A. 0.03 x0.2 U. 0.6
L. 0.87+ 100 A. 2 places left. H. 0.3x0.2 G. 0.9
U. 0.087+10 T. 1 place right. R. 0.03 x2 E. Not Here
S. 0.087 =100 S. 1 place left. C. 0.03 x0.02
9. 6.8 x2.5= 10. Which is 13.5? 11. 1.3+0.002 = 12. 1.1 +2.5 =
T. 11 L. 4.05+0.03 S. 650 T. 440
H. 13 I. 405+0.3 L. 65 R. 44
I. 16 T. 405=+3 1. 6.5 I. 44
N. 17 E. Not Here M. 0.65 M. Not Here
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Short-Answer Questions

Show the work.

1. 6+1.2 2. 13.7-3.56 3.04x02 4. 3.06+0.3
5.24+13 6. 0.6 -0.524 7. 0.013 x 6.78 8. 6.02+0.7
9.2+6.5 10. 3.502 - 0.675 11. 378 x 0.025 12. 3.43 +0.07

Additional Objectives - Use no calculator.

6. Operations on Fractions, Decimals, and Percents

A-3

Applied Math Upgrades

Getting to Know Your Calculator




